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20.

Combine the sentences using the connectives :

(a)

Iron is found in India. Coal is also found in
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India. (as well as)

BLE40 — ENGLISHIV

(b) Raju had no ticket. Still he was able to get
in. (although) - e .
() Harish did not work hard. So he failed in the Tlp:e : Three hours Maximum : 75 marks
examination. (if) :
(@ He left home early. Still he arrived late. SECTION A — (10 x 2 = 20 marks)
| (alubongh) | Answer ALL the questions |
() Hemanth is very fat. He cannot walk fast S '

(too)

/,' QA t does J.B. Priestley state about the seafaring
Write a CV for the post of Marketing Manager in a : e?:‘o X :

firm.

Why &id the horse shake its head in “Stopping by
Woods"?

5. Who asks Ophelia to.leave to a nunnery?

6. What was the . actual reason for Hamlet's
disturbance? '

7.  Use tke following word in sentence of your own:
Wow!
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10.

11.

12,

13.

Use the following word in sentence of your own:
Alas!

What is the purpose of a CV?

What is the purpose of a covering letter?

SECTION B — (5 X 5 = 25 marks)
Answer ALL guestions.
(a) How does Priestley explain courage?
Or

(b) How does Priestley depict the old men and
children during train journey?

(@) What does Mahapatra state about the
October morning?

O
(b) Comment on Tagore's language.

(é) How do the king and Polonius plot to spy on
Hamlet?

Or

(b) Write a note on Caesar's will?
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14. (a) Identify the errors in the

sentences :

following

@) I have seen him yesterday.
(i1) We had gone to the movies last night.

(@iii) I had spoken to them about my holiday.
T — T 01‘

- (b) '(“J\hange the following sentences into Passive

Volt:e :

@) } Idid not beat Chandran.

'@1)/ I will never forget this experience.
;'f" ) The tiger was chasing the deer.

Write the general format of a presentation. "

Or

(b) Give some tips for facing the interview.

SECTION C — (8 x 10 = 30 ﬁarks‘)
Answer any THREE questions.
16. Recount Malala's Nobel Prize bspeech.
17. Ho\\lvv does the poet depict the refugee mother?

18.  How does Brutus justify Caesar's assassination?
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